@D, ® V6-12= Zr},




(5x = 2y)? = ANSHA ax? + bxy + cy? ek, ol A= a, b, ¢ 9
Sa+b+cY F2?

@ -2 @ 2 ® 5 @9 ® 13

(5x)2=2x5xx2y+(=2y)? = 25x%—20xy+4y? °|B2 a+b+c =
25+ (-20)+4=9




@ x*+2x+1

@x2 + 3x

@ 2x% + 3x

@ x> +3x+1

® 2x24+2x+1

= x2 + 3x

x(x + 3)
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@ V3 ® V5
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@ V52 ® (V5)?

@, ®, ®, ®V52 = /(-5)2 = (- V5)?

- V()2 = -V =5




6.  V16.9 x V640 2 AArsA?

®ss @it @16 @ © 1040

/1
V16.9 X V640 = %X 64x 10 =13 x8 =104




(3x - 2)2 — (2x + 2)(=2x + 5) = A7EFH?

@13)62—18)6—6 @ 10x2-8x+9
@ 10x%2 -16x-11 @ 10x%>-8x+19

® 13x2-12x+ 19

(3x=2)2—(2x+2)(-2x+5)= (9x2 = 12x+4) — (—4x® +6x+10)=
13x%2 - 18x—6




@® 972 = (100 - 3)? = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x49=(5+0.1)(5-0.1) = 5% - 0.12 = 24.99

® 3012 = (300 + 1)2 = 300 + 2 x 300 x 1 + 1% = 90601
@ (V24 V3)(V2- V3) = (V2)2 - (V3)2 = -1

(- V10 - V2)(V10 - V2) = (V10)? - (v2)? =8

O




9.

O x% —y? — 2x + 2y 9] Q1591 A2?

@O x-2

@ x+y+2

@ x+y @x—y
® x-y+2

(x+y)(x=y)

—2(x-

y)=(x+y=-2)(x-y)
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1L x <0, /(=327 - /(5x)? - /(007) & 243] a7

® -5x @ x @5x @ 11x ® 13x

~&B

x<0 g, -3x>0, 5x <0, 3x <0 °|B&
VB2 - /B2 - /(99)

= —-3x— (=5x) — (-3x)
=-3x+5x+3x=5x




12. 5 A4 A 0 o disted, \/5(n + 13) ©] AD47} HE sh= p
o] grel e

@ 69 @ 79 ® 89 @99 ® 109

B ~
10<n <100, /5(n+13) - A4

n+ 13 = 5k2

23 < 5k% < 113

4.6 <k% <226

~k2=9,16

n=5x9-13=32 ,n=5x16—-13 = 67

wr2bA n o] 3ol §-2 32 + 67 = 99 o]t}
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), a 9] gh& R5F F5HH?

7t el HeR g o] g A

12 @23 ®34 @35 O45

~&B

HRE 23 A7|H

2V3+a-5

av3-3

~ (2V3+a-5)(aV3+3)
 (aV3-3)(aV3+3)

~ 9a+6V3+a’>V3-5aV3-15

3a2 -9

7b frEl57t Hojof stE g Eato

6 V3 —5a V3 +a® V3 =0 ©] Hojof gt
a?-5a+6 =0 °]1, o|ZFPFAA 42 —54+6 =022
(a-3)(a-2)=0°B2 g=3 F=a=2 0|t}




14. axb=(a+b)2 22 FoJ u, 2x* (—y) 4 x* 2y S 7HH5] 5hH??

@D 2x2 + 2y? @ 3x% +3y? @ 4x? + 4y?

(@)5x2 + 5y? ® 6x% + 6y

(2x - )% + (x +2y)°
=4x% — 4dxy + % + 1% + dxy + 4?
= 5x% + 5y?
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15. (x—a)(2x+3):2x2—% A, 2a-b 9 F2? (F,b>0)

-2 @-9 G @ 3 ® 9

B

2) () =262 (2)

9
=92x2 -2
S

wehA ¢ — gom b2 = 90|BZ h=3(- b > 0)
v 2a-b=3-3=0




16. 4x®+ax+16 = (bx+c)* oM a+b+c 9 322 (T, b>0, ¢ <0)

® -7 @ -10 ® -12 @ -15 @—18

4% 4 ax +16 = (2x - 4)° 0|22
a=-16,b=2,c=—-4
“a+b+c=-16+2-4=-18




17. ©he % UmA) YT 2 35 Q48 24 g 2L

D x2-16 @ x> +8x+16 ® x2+x-12
@ 2x2 +9x+4 ©x2—8x+16




x-y=AZ A&3H
(x—y)(x—y+6)+9=A(A+6)+9
=A?+6A+9
= (A+3)?
= (x-y+3)*




19. a+b=3v2+1% o, o3 A9 22

a’+b*>+2ab-2(a+b)+3

® 10 @ 15 @20
@ 10V3+10 ® 20V3 + 10

B

a+b=3V2+1 A
(a+b-1)2 = (3V2)?,

a® +b* - 2a—2b+ 2ab = 17
na?+b?+2ab-2(a+b)+3=17+3=20
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